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QUESTION 1

When installing Nutanix Guest Tools (NGT) on an ESXi-hosted VM, which port should be enabled on the VM to allow
communication with the NGT-Controller VM service?

A. 2000
B. 2074
C. 8080
D. 9943

Correct Answer: B

QUESTION 2

An administrator finds that guest VMs are offline and storage is unavailable. The administrator needs to know if any
process within the CVMs on the nutanix cluster are experiencing crashes. Which log file should the administrator locate
to determine if any processes have crashed?

A. ERROR logs

B. INFO logs

C. FATAL logs

D. WARN logs

Correct Answer: C

QUESTION 3

Which Nutanix feature allows for a Less than 60 minutes RPO and leverages light weight snapshots (LWS)?
A. Cloud Connect

B. Nutanix Guest tools

C. Near Sync

D. Volume Group

Correct Answer: C
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QUESTION 4

An administrator responsible for a VDI environment needs to investigate reports of slow logins. The administrator finds
that increasing the number of vCPUs from 2 to 4 will reduce the login times. Production workloads are consuming 75%
of the host CPU on the cluster. The administrator increases the vCPU count on all of the VDI VMs.

What are two impacts on the cluster? (Choose two)

A. Increasing CPU counts will decrease memory utilization

B. Increase memory utilization%

C. Increase CPU utilization%

D. Increase CPU ready%

Correct Answer: AB

QUESTION 5

An administrator is working with sensitive data and wants to encrypt that data by Nutanix Software Encryption. Which
three types of information and components are required to enable this configuration? (Choose three)

A. Key Management Server (KMS)
B. Root Certificate Authority (CA)
C. Signed Certificate for each CVM
D. KMS Certificate

E. Self-Encryption Drives (SED)

Correct Answer:. ABE
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